We improve road safety with cost effective solutions

INSTALLATION INSTRUCTIONS

102812 Installation kit SL2 (horizontal) for
100451 Toolbox 550x450x450
100453 Toolbox 700x300x300 L

100451 Toolbox 550x450x450

e | . s__a = =
T g
B~ =t
o 9__
e L -
-4
Ny )

Pos | Qty Part

1 2 x U-profile 470mm

2 8 x v Square Neck Bolt
M6x16

2 8 x () Nut Nyloc M6

2 8 x ° Washer M6x18

Parlok Oy | 21600 PARAINEN, FINLAND | +358(0) 24542222 | www.parlok.com | parlok@parlok.fi



We improve road safety with cost effective solutions

INSTALLATION INSTRUCTIONS

102812 Installation kit SL2 (horizontal) for
100451 Toolbox 550x450x450
100453 Toolbox 700x300x300 L

100453 Toolbox 700x300x300 L

¥

o &g
H qn_‘
| i
1
Z

i
! i
1

o
=
£
- | .
[
I
I
S

Pos | Qty Part

1 2 X U-profile 470mm

2 8 x v Square Neck Bolt
M6x16

2 8 x Nut Nyloc M6

2 8 x ° Washer M6x18

Parlok Oy | 21600 PARAINEN, FINLAND | +358(0) 24542222 | www.parlok.com | parlok@parlok.fi



